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Now if by an® % it is not a valid PRIT5P; is 17 732 necessary

OVERVIEW

The X072 teaches us (in the X)) that if a man says, ‘become nwTIP1 to me
with a 'm1’, as long as he did not finish counting (and giving her) the i,
either of them can retract from the 7"217°p. The Xn>72 continues (in the X5°0),
if he said, ‘be nwTpPn to me with this 773%, and it turned out that the 7n
(which he gave her) was lacking a 71°7 she is not nwmpn. The X 3 presently
assumes that the X™ of the xn»"2 is also discussing a case of “ 7, for if
we are to assume that the X" is discussing *ono 71 and nevertheless either
of them can retract before he gives her the entire 711n, then certainly” by 3 71n
it will not be a valid w1 7p if he does not give her the entire 7132, Our Mo0IN
challenges this logic and initially argues that the X7 can be discussing 71n
ano and the X5°0 can be discussing 17 7117 and there is no difficulty.

nooIN asks:
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And if you will say; perhaps this is what the Xn»71 is teaching us by

mentioning (in the X9°0) the case of 11 77111 (even though we already know [from the Xw™]
that [even] by ono 711» they can retract) -
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For by 1 71 there is an even greater novelty; even if she did not retract, it
is still not a valid 21752 since the 171 was found lacking!6

MDOIN answers:
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And one can say; that we can derive from the X9 of ano m» that by 7 7 if
the 7711 is lacking there is no Pw17°p even if no one retracted.

" A am is a hundred o7

* The 89°0 (merely) interprets the Xw™.

? This means he told her ‘I will be w7pn you with a 71 (any 713); not a specific 713 as in the case of 7 7.

* By ono m» we can possibly argue that he will make up the difference later from elsewhere; however by
7 711 he is committing that the entire 71n is being given now with this money. If the money is not there
completely, there can be no w1 7°p.

° By ono i if the 7n is lacking and neither retracted then he can make up the difference and it will be a
valid 1w17°p; however by 11 731 even if no one retracts, it is no 7w17°p for he did not give what he said.

® We would (seemingly) not know this from the X that even without a retraction the 7w17p is invalid.
Therefore we can (still) assume that the X7 is 2n0 7312 and the X5°0 is 17 7102,
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mooIn explains:
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Since by ano 771% she can retract before he gives her the entire 7712, and we
do not insist that since she began to accept part of the money she cannot

retract as long as he is able to complete paying the entire 71n, but rather that she

can retract anytime before the entire 731 is paid -
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It is therefore evident that the w1757 do not take effect at all until he

completes the payment of the entire 71, it is therefore also understood that -
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Here too when he said to her with ‘this /7%’ and it was found lacking,

the Pw17T5P are not effective, and in this case it is understood -
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That even completing the 71n later will be of no avail, for she did not
agree to the P 7P pending his completing the 71 later from another

source, but rather she was depending on the 722 which he shows her; that
is the w17°pP she is depending upon -
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And that 717 is lacking! Therefore we understand ourselves (once we are aware that
by ono mn either can back out) that by 1 7an there can be no n>wi if the 7 is lacking
(even) a 7.

SUMMARY
Once we realize that by ano 71n there is no 7217°p until the entire 7117 1s paid,
we also realize that by 7 71 and it was a 01, there can never be P27p.

THINKING IT OVER
What do we realize in the answer of m»oin that was lacking when m»oin
asked the question?

7 If the ruling by ano 7 would be that she cannot retract (once she received a 70199 M) but rather she is
nwTPn and he owes her the rest of the money, implying that when one says 7133 °2 "w7pn1 it means that the
YR is with a 7v179 and the rest is (merely) a payment obligation, then by 7 711 we could possibly
assume that even though an entire 717 is required for the 7"w17°p to be effective (for he said 7 731 and not 717
ano, meaning that the w172 should be with a 711 and not with (merely) a 7v179), nevertheless even if the
mIn is 7on he can be o°%wn if she did not retract (7712 2"vxY). However now that we say that even by ono mn
there is no 1"w17°p unless he is °2wn, then by 11 711 she can never be nw7pn if it is 72°7 "om.

¥ She may certainly retract (since she did not receive a 1), and furthermore she need not even retract in
order to invalidate the 7"217°p — as Md0IN goes on to explain.
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